3A - Measurement – Lesson 03
Units and Applications – Ratios
Name: _________________

1) What is a ratio?
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2) What are the ‘ratios in childcare’?
3) What is the Cement : Sand : Gravel ratio for a high strength concrete?
http://www.cement.com.au/Docs/Howto/PackagedProducts/HowTo_Packaged_180706_111800.asp
4) Completely simplify the following ratios. (Hint: divide by the same number)
	a. $2: $6


	b. 3 kg: 12 kg
	c. 4 ha: 20 ha

	d. 7 L: 49 L


	e. 15c: 45c
	f. 200 g: 500 g

	g. 55 mg: 77 mg


	h. 500 mL: 750 mL
	i. 25 km: 100 km


5) Completely simplify the following ratios. (Hint: multiply by the same number)

	a. 3.5 kg: 3 kg


	b. $2.50: $3.00
	c. 0.2 km: 1 km

	d. 1.3 min: 2.9 min


	e. 6½ m: 3 m
	f. 5¾ L: 3¼ L


6) Completely simplify the following ratios. (Hint: convert to the same unit)

	a. 6 cm: 3 m


	b. 750 g: 2 kg
	c. 30 secs: 3 mins

	d. 750 mL: 1 L

	e. 400 kg: 1.2 t
	f. $3: 60c

	g. 4.2 km: 600 m

	h. 30 L: 15 kL
	i. $12.50: 25c


7) Use the unitary method to solve the following:
a. George owns 5000 shares in GPD Enterprises and Marty owns 2000 shares of the same company.  They receive $4 970 as a dividend. The money is to be divided between them in proportion to the number of shares they own. How much does each get?

7000 shares =
$4 970


1 share = 
$______ ÷ ______ = $________


George (5000 shares) =
$______ x 5000 = $________


Marty (2000 shares =
$4970 - $_______

b. The ratio of boys: girls in a class is 2: 1.  There are 27 students in the class. How many are boys and how many are girls?
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